DRILL 14.4V CTR HANDLE

CTH1442K _

RYOBI AMERICA CORP.




REF |PART NO. -

DESCRIPTION A QTY |[REF |PART NO. DESCRIPTION Qary
1 6130388 SCREW L.H.T. 1
2 1940015 CHUCK 1
3 1130302 SCREWM 3 X 1.4 2
4 1150136 MOUNTING PLATE
[ 1360076 CLUTCH CAP
6 1150003 CLUTCH RING HOLDER
7 1180001 TORQUE SPRING
8 1500149 METAL WASHER
jo  |1900002 WASHER RING CLUTCH
10 |1900001 WASHER RING CLUTCH
ii  [i830053 LEVER
1360077 BIT-HOLDER
‘113 |1080074 HOUSING SETS -
14 |10B0066 LANVARD

i5 1920103

BRAND LABEL ON UNIT

16 1580005

CONTACT PLATE HOLDER ASSY

17 1550055

SWITCH ASSY

18 |1130050

TAPPING SCREW M3X8,PH

19 1320026

HEAT SINK

20 (1030033

MTR. ASSY.

21 1950015

SPRING WASHER, M4

22 1130047

MACHINE SCRE M4X10, PH

23 1080075

2-SPEED GEAR BOX ASSY.

24 1290002

STEEL BALL 5MM

b

25 1080074

HOUSING SETS

26 1130304

SCREW M 3.5 X 16

27 1910275

RATING LABEL

ololxpi=Iniplaja]ajmja|miajoja]ajajo]ajaiala]as

501 |1400655

12 CELL POWER PACK ASSY |

wl

502 |1400656

CHARGER ASSEMBLY

1

503 |1770025

CARRYING CASE

504 (1740142

S50MM DOUBLE BIT PH. #2&43

505 |1740141

SOMM DBLE BIT SLOT 6MM & 7TMM

SERVICE NOTES:

RYOB! AMERICA CORP. 3/97




